MATH 202.10 (Term 151)

Quiz 5 (Sects. 6.2 & 6.3)

Name:

Duration: 20min

ID number:

nen
1.)(7pts)Find first fo

terms of 2 powers series solutions of: (z2—4z)y”—y'—2y = 0.

2.) (3pts)Find the indicial roots of: z%y” +2z(z®> —z+ 1)y — (1 —z)y =0 at 7, = 0.

A) x=o0 & asw\ Ea/ Pom*' ’#H\nbc
Thaxe WMI at Raﬂt’dN slulinn
d= Zcr. A DOLCR

@) Zaﬁwr) (ver- t)x chcw)x o
N=zo nzo
-2 ZCM 1‘;\’“; O
'\."Z*o

M,o

*'ic‘(vw‘)x —Lfﬁnﬁ] 20 o

£ n~|
é‘&.. (nir) (wkr-) x —4 ZG«GwﬁC\wH J 'X

G =L &)
D-s Co < QX—QCxL ~E* —
=6 (L~xt
N T——
PWV)‘

27y
el = ‘QC*%) (K—J(;) - a( /
(Mk=3) (e4)

q= 5w =3
_E~‘—

Cwl 3

DT ¢ /_‘l/le .
Q= T, T

{Co'(' CLX*(ULL* —~)

"LLCo “(P—Q‘)L - Cor)c -+ ZQ(’K-M(QM\P‘ 7\ (l — %}X g e — )
“(‘E:*[(”‘*" (e 25 _; Z—f:q (WM%__J /‘\/*:}L\/
_.—LZG‘)LK-:,. C Lﬁ \(\)\ R E(’:LM‘\D\ - a~)) D - O
* NI
~orur) *Z@[@«\CW'\\ i —F St
K= . q
+ G"{\_(K‘W‘H)o(%«k- wr- \\‘)X O Q} =) Rr‘\ = 2 (’)\\'7-6 £ '.)

Co r(u\r-q = o

{

q o= X = ~ ()

: —~ O
onm £ T
(k«w-ﬂ)(uv-ﬁuK{-) e e it
| D= ltu =3
Cox| Y=o

i) Ge

Ceer = = (kar) (uk+1)




